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1 48258 *+ | 1000 | 365 | —BA%kE VS HKRI | BT ]| KRHVRR—YSUK TR KRB
1 48258 £ | 12115 | 366 —BT VS HKRE | BMm| KRYVRAKR—YSUK | KRT KRB
1 48258 *+ | 1430 | 367 TE VS XX BN | KRYURR—YSUK | —BT KRB
2 48298| sk | 1000 [ 368 IKiR— B —BET | &M KIRITEG KiRE KIRT
2 48298| K | 1215 | 369 AE VS HKRIT | B KIRITEG IKiR— KIRT
2 48298| sk | 14:30 [ 370 KR E VS  —EiEMR [ BT KRIEG KE JKRT
3 5828 £ | 1000 | 371 —BT VS T B | KRYVRAR—YSUR | KRI IKiR—
3 5828 £ | 1215 | 372 AE VS HR— | B | KRYVRKR—YSUK | —BET IKiIR—
3 5828| *+ | 1430 | 373 JKRT VS HKRE | BT | KRYVRKR—YSUF XE JKiR—
4 5898 £ | 1000 | 374 KRB VS N BN KRIZEG KiR— | —BE%¥ke
4 5898 £ | 1215 | 375 TR VS —E%ERE | B KRIZEG KRE | —B¥kk
4 5898 + | 1430 [ 376 JKiR— VS KRIT | B KRIEG T B —BFRR
5 58168 X+ | 1000 [ 377 T VS KRE | —@m| —BEEEmEE(E) |—BE¥k| —FEI
5 58168 * | 12115 [ 378 —pBT VS AE —fm | —BEEEREESGE) FEE —BT
5 5168 * | 1430 | 379 | —BE%¥kE VS KiR— | —Bm| —BRELEHRBIEGE) KE —BT
6 68278 L | 1000 | 380 | —RAZ%RE VS —BT |—Bh| FEIZa=7<L5 TKiR— T

6 68278 x | 12115 | 381 KRT VS T —Bm| FEISa2=—TqLi5 | —BE¥kR T

6 68278 *+ | 1430 | 382 7KiR— VS KRE |—Bf| FEIZa=T«E5 KIRT FEx

7 7848 *x | 1000 [ 383 KE vs —E%RE | - | —EYyh—B(ANIZ) | KiR— —BT
7 7848 *x | 12115 | 384 —BT VS KR | —@m| —BYyh—5ANIZ) |—BE¥kE| —MEI
7 7848 x | 1430 [ 385 T VS KiR— | —Bf | —EYvyh—mAIZ) | KRI —BT
8 78118 £ | 10.00 | 386 KRB VS —BET |—@W| —BEYyh—5BANIZ) | —BE¥R| XES
8 7A118| £ | 1215 | 387 KK VS T —Bi | —EYvh—i5(ATE) | KRE XEE
8 78118| * | 1430 | 388 KRT VS —B%¥kR | —Bm | —BYvyh—I5ANIE) T XEE
9 78188 £ | 10:00 | 389 KRT VS KB —Bm | —RYoyh—1B(ANITZ) | KRE | —E%¥k
9 78188 x | 12115 | 391 —ET S KiR— | —@m | —BYvyh—5(ANIE) KE —B%R
9 78188 * | 1430 | 390 | —F9%¥k VS KiRE | —Bf| —BYvyh—mAIZ) | —BET | —FFRE
10 78208 £ | 1000 | 392 IKiR— VS AE R KRI%EG —BT KiRE
10 78208 £ | 1215 | 393 KRB VS KRI | B KRI%EG TKiR— KiRE
10 78208| * | 1430 | 394 T VS —BET | BEm KRIEG KRT KRE
11 gA228| =+ | 10.00 | 395 KRT VS KiR— | —BH| FEIZ2=T+LE5 KE T
11 8B22A| *+ | 1215 | 396 | —BEE%EE VS T —Bm| FEaIZSa=—T«lL5 IKiR— T
11 8H228| =+ | 1430 | 397 XE VS KiRE | —Bt| FEIZa=F«LE | —BFKR T
12 88298 *+ | 1000 [ 398 KRB VS KR— | B | KRAAHLVDOEGE) | —BET JKIRT
12 88298 *x | 1215 | 399 T VS HKRI | B | KRAKHLDOEGE) | KRE KIRT
12 8H29A| =+ | 1430 [ 400 —BT VS —EFMR | B | KRSMHLDOECE) T KRT
13 9g198[ £ | 1000 | 401 KiRE B FEx —@m| FEHaIZa=T«LE |—BE¥k| XEa
13 9B198| L | 1215 | 402 KE Vs —BET |—mH FEIAZS2=T1L5 KiRE RES
13 9A198| * | 1430 | 403 JKiR— VS —B%¥kR | —BW| FEISa=T4ki5 —BT XEE
14 9F228| X | 10:00 | 404 | —RAZEE VS AR B | KRYURR—YSUKR | KRT IKiR—
14 9f228| % | 12115 | 405 JKiR— VS FEx BN | KR RR—YSUK K& JKiR—
14 98228 X | 1430 | 406 JKIRT VS —BI | B KRYDRR—YSUK TEE 7KiR—




